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Name: __________________________________



1
Which sinusoid has the greatest amplitude?

	1)
	[image: image1.png]




	2)
	[image: image2.png]Fsin(&-3+5






	3)
	[image: image3.png]




	4)
	[image: image4.png]=5smn{&-1)-3








2
What is the amplitude of the function shown in the accompanying graph?

[image: image5.png]246 81012141618





	1)
	1.5

	2)
	2

	3)
	6

	4)
	12



3
What is the amplitude of the function [image: image6.png]


?

	1)
	[image: image7.png]ESIEY





	2)
	[image: image8.png]




	3)
	[image: image9.png]Ix





	4)
	4



4
What is the amplitude of the graph of the equation [image: image10.png]


?

	1)
	[image: image11.png]




	2)
	2

	3)
	[image: image12.png]




	4)
	[image: image13.png]2







5
What is the amplitude of the graph of the equation [image: image14.png]2sin3x




?

	1)
	[image: image15.png]2z





	2)
	2

	3)
	3

	4)
	[image: image16.png]6







6
The equation below can be used to model the height of a tide in feet, [image: image17.png]


, on a beach at t hours.

[image: image18.png]H(t):AXsm[%(t+3)J+51




Using this function, the amplitude of the tide is

	1)
	[image: image19.png]oy





	2)
	4.8

	3)
	3

	4)
	5.1



7
A monitor displays the graph  [image: image20.png]FsinSx




.  What will be the amplitude after a dilation of 2?

	1)
	5

	2)
	6

	3)
	7

	4)
	10



8
What is the amplitude of the graph of [image: image21.png]y = cos 2x



?

9
What is the amplitude of the graph of [image: image22.png]


?

10
What is the amplitude of the graph of the equation [image: image23.png]


?

11
What is the amplitude of the graph of the equation [image: image24.png]


?

12
What is the amplitude of the function [image: image25.png]3sinlx




?

13
What will be the amplitude of the image of the curve [image: image26.png]2sin3x




 after a dilation of scale factor 2?

14
On July 21, 2016, the water level in Puget Sound, WA reached a high of 10.1 ft at 6 a.m. and a low of [image: image27.png]


 ft at 12:30 p.m.  Across the country in Long Island, NY, Shinnecock Bay’s water level reached a high of 2.5 ft at 10:42 p.m. and a low of [image: image28.png]-0.1



 ft at 5:31 a.m.  The water levels of both locations are affected by the tides and can be modeled by sinusoidal functions.  Determine the difference in amplitudes, in feet, for these two locations.
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